Question Paper Name:
Subject Name :
Creation Date:
Duration :

Number of Questions :
Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Section Id :
Section Number :

Section type :

Nnta

B ARCH EMA 23rd Feb 2021 Shift 2
B ARCH EMA

2021-02-22 13:58:40

180

82

400

Yes

B ARCH EMA

1
708191150
0

180

No

No

400

No

Mathematics Section A

708191496
1

Online



Mandatory or Optional : Mandatory

Number of Questions : 20
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Section Marks : 80
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 70819114020 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819146531.

70819146532, 2

70819146533.

70819146534, °

Question Number : 1 Question Id : 70819114020 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4

HQ xz|dx ag)om enadinellant mjelo :

-4
Options :
1=
70819146531, °
122

70819146532, 3

70819146533, O

70819146534.

Question Number : 2 Question Id : 70819114021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geometric Progression is 3 and the sum of the

squares of its terms is 7. The sum of the cubes of its terms is :

Options :
31
70819146535, 1°
108
13
70819146536.
27
70819146537, 2
E
7

70819146538.



Question Number : 2 Question Id : 70819114021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} egoaniSld ewarlaloa Hdadlmlg aleammains ®idh 3 -9o @Y wlAMBEes

QUBNEIBIOS @) ; So @YEM. alGEIBRINS HIMIBRINS M]dh ag)Mm) :

Options :
el
70819146535, 1°
108

70819146536, 1°

70819146537.

70819146538.

Question Number : 3 Question Id : 70819114022 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819146539, F =P V4

70819146540, (P9 =P

70819146541, ® PV @)V (~9)



20819146542, (P ¥ "P)~ (@ v (~q))

Question Number : 3 Question Id : 70819114022 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

969 ehosjomldlenimaiaiad esoegoad mpalisies mydwad agamialadm agoma :
Options :

70819146539, F =P V4

70819146540, (P79 =P

70819146541, P~ PV @) v (~9)

20819146542, PV ~“P) A (q v (~q))

Question Number : 4 Question Id : 70819114023 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let [a| <1, [b[<1, [c|<1and x=} a",y=) b",z=) " [ e

” are in Arithmetic

]

n=0 n=(0 n=0

Progression, then :
Options:

70819146543, & b and c are in Arithmetic Progression

70819146544 a, b and c are in Geometric Progression

70819146545, & 2b and ¢ are in Arithmetic Progression

a, b R e
20819146546, P and c satisfy 2b*=ac



Question Number : 4 Question Id : 70819114023 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a|<1, [b|<1, |c|<1, x=la",y=lb",z=lc" B,

n=l() n=( n=()

cuysnlad eoeemesldd :

1 11
o '\Uf L 00U @M

Options :

70819146543, & P € €00 mumonmeewaeniiaiaioeny

20819146544, & P € 00U eggpeaisles egyenlafianer

20819146545, & 2b, € €0 umoMmeewBeiieosay

: el v
20819146546, a b, c EDCLIAE) 2b<=ac @mem

Question Number : 5 Question Id : 70819114024 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ih‘nzl?nIS

n=1

nl is equ al to :

Options:

70819146547, 19e+5

70819146548, 19¢—5

70819146549, 16€—3

70819146550, 16€—7



Question Number : 5 Question Id : 70819114024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

oo 2
,:- N +7n+5
J —

= ag)M@lm’ menmoen :
n=1 ’

Options :

70819146547, 19e+5

70819146548, 19¢—5

70819146549, 16€—5

|

70819146550, 16€-

Question Number : 6 Question Id : 70819114025 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 109+ (3% (4)°2) + \ is divisible by 9 is :
Options:

70819146551, 2

70819146552,

=]

70819146553.

70819146554, 1



Question Number : 6 Question Id : 70819114025 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

10°0+(3 X (4)2) + X agymafiom 9 e061E aljdenmon] aodlenopmelad, \ -&6 M@0
a@Ralo &0emm aliden @ewilmosy) :

Options :

70819146551, 2

70819146552.

=]

70819146553.

70819146554, 1

Question Number : 7 Question Id : 70819114026 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819146555, 435

70819146556, 421

70819146557, 435

70819146558, +*1

Question Number : 7 Question Id : 70819114026 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

MAAMOAL EdhI—q)MO0IMO@ @M coeudEld 4, 5, 6 agmlamen emllmyend
ag)S)ee)m;. @eaeid, mosen @oaldd dhisimean mimuwnd ‘Darugls ' @b Memd
amI® eoaubeld edko-ellod apdmemdes allwenid am miomead weymend
A® emeaBslg|. ag)@lm & am el sadlelas &S BalddhaM OEMEBRINS
ag)efo :

Options:

70819146555, 432
70819146556, 421

70819146557, 435

70819146558, %1

Question Number : 8 Question Id : 70819114027 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
. ax

Ify= —‘4] has an extremum at the point (2, —1), then the values of a and b are :

(x—=1)(x
Options:

70819146559.

70819146560, 2= b=1

70819146561.

70819146562, 2= 1. b=1



Question Number : 8 Question Id : 70819114027 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

daX

(2, =1) agom enflo3dlad y :ﬁ af) M@’ ag)dmiiSlao oeemalc, a, b
X x—

agMMicuies mjelo :

Options :

70819146559, @=1, b=0

70819146560, 2= b=1

70819146561.

70819146562.

Question Number : 9 Question Id : 70819114028 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The distance between the planes ? {2.:'. [ )! 21{' +5=0 and ? I,b";" | ";; fuch +2=01is:

Options :

70819146563. 12
70819146564, 4

70819146565,

70819146566.



Question Number : 9 Question Id : 70819114028 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

20+ -2k)+5=0, 7+ 67 +3] -6k +2=0 ager) mesmRadisoiegs ajto

Options :
2
70819146563, 19
15

70819146564, %

70819146565, ¢

70819146566.

Question Number : 10 Question Id : 70819114029 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1
The pmbabilit}-' of solving a pmhlem in Mathematics b}-‘ two students X and Y are I and g

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options:
7

70819146567, 20

[ y
(=1
—

70819146568.



70819146569. 2U

Gl

70819146570. 20

Question Number : 10 Question Id : 70819114029 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

oo alladmdlad, X, Y agmilad, eecides aigmow werlmealaje mldwonemo

11
6.01GMIB8 MOW® @O0 7, & agmilsmammos. a6 Galmjo abauleniadand

e mldworemo a.algomd alajpm eecuddd erodas amacdl eaba)-mlidworsme
RAWIBIMBE MWD ag)M@ :

Options :
7

70819146567, 20

70819146568.

70819146569, 2U

12

70819146570. 20

Question Number : 11 Question Id : 70819114030 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The polar form of the cnmplex number 1+1 is r_-qual to :
1—i
Options:
+;:mr:-1E I z':aini
5 5
70819146571. e =
cos L { 5iI‘IT—I
9 3
70819146572. = =
cns'—_T I z'zaini
70819146573.  * '
cos ® i sf_ni
70819146574,  * &

Question Number : 11 Question Id : 70819114030 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i ag)(Mm Gdhlog )b MosUi@INS Galdgdd Mlalo ag)Mm® :
1—i

Options :

— —

cos — +1i sin—
" "
70819146571. = =

]
]

oS — — i 5in%

70819146572. = B
cns'—_T Fi Ein.E

70819146573. ; ;
cos 1 i sf_ni

: 4

70819146574.



Question Number : 12 Question Id : 70819114031 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options :

]

70819146575.

70819146576, -

70819146577.

70819146578, 1

Question Number : 12 Question Id : 70819114031 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(1,0), (3, 0) agm enflm)ancd cwodl o] HeMHIM EERIIEIEMLOTIM Rlosmow ax=7
ag)im Go6Y, 2 : 1 ag)lm @ootosmuEla cnsuosLeMLA®D 0)Clanim) ag@le a @S
mjeljo ag)mMa@ :

Options:

I

70819146575.

70819146576, -

70819146577.

70819146578, 1



Question Number : 13 Question Id : 70819114032 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle o yz— 2x =0 with respect to
the line x +y=2, is :

Options :
70819146579. 24y —2x+4y +3=0

-

x2+y—4x—2y+4=0

70819146580.

Yx2+ 42— x- &
70819146581, 2"ty —x+y+1=0

2 . 2 SO, TS al
70819146582, * Ty —2x—4y+3=0

Question Number : 13 Question Id : 70819114032 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x+y=2 ag)m eeaH© @Slmuuommadsl 1% +y%-2x=0 agm alemodien dod oengd
0laleSIOmIM AlEmenile macidio agmae
Options :
=2 Y A A T —
70819146579, * Ty —2x+dy+3=0

"

x -’r-yz---lx—Zy-’r-l:D

70819146580.

Wil ard gy it
70819146581, 2~ +y) —x+y+1=0

2 42—y — il
20819146582, ¥ Ty —2x—4y+3=0

Question Number : 14 Question Id : 70819114033 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equations of the common tangent of the ellipse =1 and the circle

(x+1)2+ (y—1)>=4 are :
Options :
70819146583, ¥+3=0 and x=1=0

70819146584, ¥ =0 and y+1=0

70819146585, ¥ +3=0 and x—1=0

y-i—3=[] and y—1=lf]
70819146586.

Question Number : 14 Question Id : 70819114033 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2

x+1)*  (y-1)°
2? | 32
cujemaEadDie HulomIID HMISIURHRINS MDCLIRETED :

=1 opm ofelafmieoeie (x+1)%+(y-1)*=4 agmm

Options :

70819146583, ¥+3=0 and x=1=0

70819146584, ¥ 3=V and y+1=0

70819146585, ¥ t3=0 and x—1=0

y+3=0 and y—1=0
70819146586.



Question Number : 15 Question Id : 70819114034 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 1 a
If A= {” J , then Ak (keN) is :

Options :

70819146587.

70819146588.

k ka
0 k.

70819146589.

{l kﬂ
0 0
70819146590. - '

Question Number : 15 Question Id : 70819114034 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 -1
Dl @epodd, Ak (keN) agoma :
Options :
T ka
0 1
70819146587. '

1 k“a
.[] 1 -

70819146588.



k ka
0 k.

708191465809.

1 ka
0 0
70819146590.

Question Number : 16 Question Id : 70819114035 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
X, +2,1'2+ 3,1'3: 9
xy+3x;+sx3=t

has no solution, are :

Options :

70819146591, $=2, t=13

70819146592, S#

70819146593, S=2> t# 13

70819146594, 1 * 13

Question Number : 16 Question Id : 70819114035 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Xyt X+ x3=5

X+ 2x,+3x,=9

Xy +3x,+sx,=1t

600 (MVDOUILETRWDSE) ‘OIV0R)aUM’ g af)Elad, s, t agmilau@ins ajelssdd :

Options :



70819146591, =2, t=13

70819146592, S5

70819146593, °

70819146594,

Question Number : 17 Question Id : 70819114036 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y i

: . —1| <X ¢ :
with respect to sin 5 ‘ in (1, =), is:

i
Derivative of tan ‘
1-x ) (d+x"

Options :

70819146595.

70819146596, ~ 1

70819146597.

-2

70819146598.

Question Number : 17 Question Id : 70819114036 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o f 2.1- Y\ : ) f 2 A1
(1, =) -olad sin 1|1 = -om @Epdlcunomaods) tan 1‘ lj‘ oo
Fx“ 1-x° '

' / .\ 4

aadlecuglal agma :

Options:



70819146595.

70819146596. ~ !

70819146597.

I

70819146598.

Question Number : 18 Question Id : 70819114037 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—_  — - =

=1, It a><|,a><c_ t b=10, then

—_ -3 —

Let a, b and ¢ be three vectors such that ‘a‘:

‘_“

a

b

E\J|

—

o
the acute ang_le between a and ¢ is:

Options :

NP

70819146599.

NE

70819146600.

T
q

70819146601.

5
12

70819146602.

Question Number : 18 Question Id : 70819114037 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



‘ ‘ — — —

———m@oaag}rrr:mg,rmmmoaasog@gom a,b, c agria ax[axc]f:_d

h

- =

m@mmm’b, a, ¢ agmiassdisaiad opipqlsim mymedoed :

Options :

NP

70819146599.

NE

70819146600.
w
70819146601, 2

5w

12
70819146602.

Question Number : 19 Question Id : 70819114038 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +y*)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)

Options :
T= -1 _t:ll1_1:!lf
70819146603, ©~ | @n ytce
| = 1 tan 'x
70819146604, Y@M ¥ 1tce
l'ztﬂjl_ly 14 CE_tin_l.!-'r
70819146605.

an

x=—tan ly 1—Kke

70819146606.



Question Number : 19 Question Id : 70819114038 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(1+y?)dx=(tan "y —x)dy ag)m Wlhoomayy@d macod)onied emoeyaud :
(c oM@ 60} EadmQd] edomdayid @e )

Options :

a -1 —tan_lj.,r
70819146603, ¥~ 1 tan ytce

1 tan 'x

70819146604, /B0 ¥ 1tce

. -1 —t:'m_ly
70819146605, X @an y-ltce

70819146606.

Question Number : 20 Question Id : 70819114039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2

The values of x, for which the vectors a= {xz 16) i -1; (x°—25) k make acute angles with

the (positive directions of) coordinate axes lie in :
Options :
70819146607, |2 ~4l v & 3]

70819146608, |24 v (—4, 3]

70819146609, (72 ~4) W (4 5)

70819146610, (> D (74 3)



Question Number : 20 Question Id : 70819114039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A,
-

caloniiglal draless 1, y @euamaaow] caldmm a=(x? 16)i +4 (x>~ 25)k
OSSO MyMEdoemiddd tjalladlojpdd, x-am ajel mudaleaiguma :

Options :
70819146607, L2 ~4 < 4. 5]
70819146608, |2+ 4) W (=4 5]

70819146609, (7 ~4) Y (4 5)

20819146610, (~2 4 Y (=4 5)

Mathematics Section B

Section Id : 708191497
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191777

Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 70819114040 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx 1s
2

Tj M+ cos2x
0 1.|||| <

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819114040 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx ame ____ @deém.

"-*I T+ cosZx ;
0 1"II 3

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819114041 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819114041 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9tan?0 + 4cot?d af)Maend &H0emm aeljo ag)Mmey
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114042 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114042 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

.xlﬁ_y B
G e e

ag)m ensuaiealss (1, 2, 3) agrm enflozyaddd dlom cuewsnim
elooumdlom@ g @wem.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819114043 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. 2
If log, 2, log, (2*-5) and logz| 2° o | are in Arithmetic Progression, then the value of x is
3 3 83 ?)

L

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819114043 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
- 5
logs 2, logs (2*-5), logs | 2* %| agymilcu mmomoewerieidd eoeemald, x om@ aelo
2)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819114044 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If x2+x+1=0, then Jirx i|2 | |r1,2
l X7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

=
o

-\2

s

Question Number : 25 Question Id : 70819114044 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i Jr ll‘lz r2
2 +x+1=0 @M i x-—| +|x
L™

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

1

2

2

i

X

4

-
3

s

1

¥ -

w2

;

e

agym® __



Question Number : 26 Question Id : 70819114045 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x2+y?—4x—2y~11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819114045 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
(4, 5) agem enflezafl@d oflond x2+y%-4x -2y - 11=0 agym cujEmETieakss @) m
OISR, AEDETea a) 6208 epr)mo] eoldmy aimdeigo ol ladanymy

i

nidjod eide amde@ood aeagal @6
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819114046 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to __

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819114046 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

80} eamiemodlod allnglniyaafd noondopswle eudodnin@oio ®d
15 9o @UWeS AbnBaIes ®)d 117 do @@, ‘Dadaflaaidwn el ®ains

af)§Ro _____ @DE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819114047 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, d= Z with ged (|a|, |b, |c|)=1,
then [a+b+c+d | is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 28 Question Id : 70819114047 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
(1,2,6), (2,5, 7) agor enfln)aedlelns smiealodlmmio 4x —y+z2=15 ag)om malmnilad
EloSNICE0D AHEOM) ®EIMo6Ny ax +by +cz+d=0. ab,c,deZ ged ([a], b, |cf) =1, eoword,

)

atb+c+d ogmm __ @pem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114048 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ir I
The number of real solutions in the interval [ ; -‘ of the equation 4sinx — 8sinx +3=0

15 -
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114048 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



1

3T Tn
2 r

oM at@MIOM@ agemo __@oen.

}ag]rm eddeug/ad, 4sin>x —8siny +3=0 agym macnajemior ‘Clod

I‘\J|

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114049 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1

] 10
Let Al, Az, A3, ....... be an increasing geometric progression. If T-; Ts

h_'% and

AA,=44], then 3(A, +A,) is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114049 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
11 10

AL A, A, ... GDGO0AOEM (HOOWIEISS CRODISS CUIET @RI As ' As 63

9o AsA;=441 9o @ROM, 3(A,+A,) M@ @Bdh)M),

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Aptitude Test
SectionId: 708191498
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191778
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819114050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which among the following is the full form of the “"UNESCO’ ?
Options :
70819146621. United Nations Educational, Scientific & Cultural Organization.

70819146622 United Nations Educational Sc-curit}-' Cultural Drgat‘ni;:ation.



70819146623, nited Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819146624.

Question Number : 31 Question Id : 70819114050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®6¥ eS| OldlenMal@d ‘UNESCO” @ies aljdemojalo ag@oem  ?
Options :

@OeMEW  eMaHMM  agwyicsHademad, eomM@ladlse & &Hdajod
70819146621, BOVNONMETAHD

70819146622, @IOOMI EMaHDIY agianyeasnasm@d amaydldl &i.ajom soduesmemau

20819146623, DIOSMAA EMaH@MS ag)@BSMMY H6mE @osflotd B0BWOSMEM A

@OHEMAA" EMaUDM) ag)abjjesnattema, mmngemeud & &HBdalom
70819146624, SODWOOMETVAYCD

Question Number : 32 Question Id : 70819114051 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819146625, D-1), (ID-(@), {D-(d), (IV)-(c)

20819146626, D-(0), (ID-(d), (D-(a), (IV)-(b)

20819146627, V@) (ID-(b), (ID)-(c), (IV)-(d)



20819146628, OBy (Ha), (<), EV)H{d)

Question Number : 32 Question Id : 70819114051 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
algld - 1 6o algléd - 11 Ho calnjoals] CoIbs)d:
algls - 1

() a0 B9l emaud (a)

(I)  anoslesd cuosd, eaimdail@auondlwo  (b)

()  endeSoemomy scud (c)

(IV) emmgdlewq (d)

Options :



70819146625, (D-(b), (ID)-(a), (ID)~(d), (IV)-(c)

20819146626, V-(©): (ID-(d), (IT)~(a), (IV)-(b)

0819146627, D@, (I)-B), (D<), AV)-(d)

20819146628, 9P (IHa), (<), (VHd)

Question Number : 33 Question Id : 70819114052 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(I) Kamru (
(II) Delhi ( Badrinath Temple
(IIT) Fatehpur Sikri (c) Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

a) Victoria Memorial Hall
)

Options :

20819146629, Wb}, (ID)-(c), (HD-(d), (IV)-(a)

70819146630, W-(b), (ID-(d), (I)-(c), (TV)-(a)

20819146631, V), ()-(a), (D)-(b), (IV)-(d)

20819146632, V() (ID-@), (ID~(d), (IV)-(c)

Question Number : 33 Question Id : 70819114052 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



algld - I 9o algléd - 1l o Caldjoalsl @aldde) jds.

alglds - 1 algls - 11
(I)  ®»moy (a) allesesodw eacomodlwm a0ow
(I)  cwadadd] (b) eruiElmold esoendlid
(1)  aneE®alyd ol () elldssl amild
(IV)  e)x0adedanomm (d) enneid adauomo
Options:

0815146695, -(®), (D-0), M-, (IV)-(@)

70819146630, D-(b), (ID-(d), (L)-(c), (TV)-(a)

20819146631, D). ()-(@), (D-(b), (IV)-(d)

20819146632, V(b) (I)-@), ID-(d), (IV)-(c)

Question Number : 34 Question Id : 70819114053 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819146633, D-(b), (ID-(c), (ID)-(a), (IV)-(d)

20819146634, D-@), (ID-(b), (IID)-(c), (IV)-(d)

70819146635, 1) (D-(2), (ID-(d), (IV)-(b)

70819146636, V(P) (ID-@), ([I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819114053 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
algld - I §o aidléd - 11 Ho caldjonlsl @alda)d.
alglss - 1 alglss - 11

(L @D CHIG (a)
-_'--'-*'i “‘-i._*ir_'l-.
, aroce| G
(II) @eme omigld by AT
(1) a3 mﬁ{yﬂimﬂfmﬂﬁl (c)

(IV) @mwmoln (esonllid) eduimo  (d)

Options :
70819146633, (1-(b), (I)-(c), (ID-(a), (IV)-(d)

20819146634, D-@), (ID-(b), (IID)-(c), (IV)-(d)



70819146635, M+(9)- (D-(@). (I1D-(d), (IV)-(b)

70819146636, () (1)-@). ()-(c), (TV)«(d)

Question Number : 35 Question Id : 70819114054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(II)  Vishnu Temple (b) Amritsar
(III) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Bunivyar
Options :

70819146637. {n“{‘:]r ﬂl]-{d], UIFJ-(h], {-[V]-{a]

70819146638, (D-(¢), (I)-(d), (ID)-(a), (IV)-(b)

20819146639, (D-(d), (ID)-(b), (LD)~(c), (IV)-(a)

70819146640, (D-(P), (I)-(d), ()-(a), (IV)-(c)

Question Number : 35 Question Id : 70819114054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



algléd - I o algld - 11 Ho Galmjoalsl C.albdde .

algléds - 1 algls - 11
()  @dallir wodawd (a) @emoell
(I) fladem) eau(®mo (b) @e@y®aUd
() adlSloeru EdH|@mo () alleermiod
(IV) andlacsloo (d) ennrileod
Options:

70819146637. (D-(c), (ID)-(d), (II)-(b), (IV)-(a)

70819146638, (D-(¢), (I)-(d), (ID)-(a), (IV)-(b)

20819146639, (D-(d), (ID)-(b), (I)~(c), (IV)-(a)

70819146640, (D-(b), (1I)-(d), ([)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819114055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
20819146641, D-(@), (I-(d), (ID)-(b), (IV)-(c)

70819146642, (D-(d), (ID-(¢), (ID)-(a), (V)-(b)

20819146643, D), (1)-(c), (D)-(b), (V)-(a)



70819146644, (0@ (1D-(), ()-(d), IV)(c)

Question Number : 36 Question Id : 70819114055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

algld - 1 90 algld - 11 Ho ealdlonlSl E.oldee)d.

alglé - 1 alglé - 11
()  e@mnoml GHIS (a) e®anEIeLIE
(I)  ofidl eog (b)  exEmOmdeOHNEH
(IIl) GUNWDOBNNE CHOS () awmdadl
(IV) eamddg afleyo (d) e=owand

®06¥ 6:0s)dldlenMmaudiad olmmie rdlwow pEmeo GlEOETMS 86 d:.

Options :

20819146641, (D-(@), ()-(d), (I)-(b), (IV)-(c)

70819146642, (D-(d), (I)-(), (D)-(a), (V)-(b)

20819146643, V-(d), (ID-(c), (ID)-(b), (IV)-(a)

Question Number : 37 Question Id : 70819114056 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small things’ is written by which Indian Architect ?

Options:

70819146645, B-V- Doshi

70819146646, Arundhati Roy



70819146647, cvati Kamat

70819146648, Dimal Patel

Question Number : 37 Question Id : 70819114056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a@® aomimiudlaie lwoem “eurony Boad Minod wlledmi’’ agmn aljmimdo @.aflg)@ ?
Options :

70819146645, 6. Al @30ad]

70819146646, COCLBE! COOT

70819146647, COU®| H00ET

70819146648, TH2® ale5wd

Question Number : 38 Question Id : 70819114057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819146649, Suiarat

70819146650, 'Vest Bengal

70819146651, Lamil Nadu



70819146652, Rajasthan

Question Number : 38 Question Id : 70819114057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

£2G00dH) af)MM SO0 BMOL! MANMIWI0 BHIEMEQ|SIMM :
Options :

70819146649, LR

70819146650, ©UER ELIowo0

70819146651, @AILMOS

70819146652, @8O

Question Number : 39 Question Id : 70819114058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The monsoon wind enters in Indian sub-continent from which direction 7
Options :

70819146653. North-West side

70819146654. South-East side

70819146655, orth side

70819146656, “CuthrWest side



Question Number : 39 Question Id : 70819114058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a® dlodad mlemosm memmued o @ Saleeuemberidd el ma ?
Options:

20819146653, (US#6 - alslemmod dlu

70819146654, OO0 - Hleas) Ao

70819146655, (L/S#6) oo

20819146656, ©@#6) - alSlemmod dlvo

Question Number : 40 Question Id : 70819114059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?

Options :
70819146657, Poamet Bhavan in Bhopal

70819146658. LIC Building in Delhi

70819146659, “harminar in Hyderabad

70819146660. Victoria Memorial in Kolkata



Question Number : 40 Question Id : 70819114059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®06Y OBSIOlEHNM ap® adgls rayal@me Mmalesl emoaml aam®dhel
dlafow (aldwomo a.aigyma ?

Options :

20819146657, GEafoelleles oo @l

70819146658, LPAITIENES ag@. Hag). M. OGS0

20819146659, PP0e®Midlenss aloddlmod

70819146660. adomanmmaies alleesodio emecomocioad

Question Number : 41 Question Id : 70819114060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the size of A2 Drawing sheet ?
Options:
70819146661. 420 % 590 (mm * mm)

70819146662, 20594 (mmx mm)

70819146663, 207 *420 (mm> mm)

70819146664. 420 x 592 (mm x mm)

Question Number : 41 Question Id : 70819114060 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A2 eiwodlot ealadlenn aleljajo ag)@mm@osem’ ?

Options :
70819146661, 1207590 (dl. dll xail dil)
70819146662, 20594 (dil. dil xail di)

70819146663, 297 * 420 (di. afl xafl d)

70819146664, 1207592 (dil. dil xail dil)

Question Number : 42 Question Id : 70819114061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options:

70819146665, Chittor fort

70819146666, Jaigarh fort

70819146667. Bhangarh fort

70819146668, xmer fort

Question Number : 42 Question Id : 70819114061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



®O6Y¥ alOWIM aR®) eH05Wlaioen) allessdl saud gweq|simal ?
Options:
70819146665, /GO0 6£0F

70819146666, =2 W C&HZ

70819146667, SHOWAD G&03

70819146668, TOZI0 B3

Question Number : 43 Question Id : 70819114062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :

70819146669, Sanjay Puri

70819146670, Vikram Lall

70819146671, Ashok Lall

70819146672, = ompura

Question Number : 43 Question Id : 70819114062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@269 alo@)M comim) tlidalladad @peoem (wrmivaow ‘Boaudiie’ eau®o @)
dhajm f.alome ?

Options :



MooerU®@ ol )
70819146669.

70819146670, lidho £lomd

70819146671, ©RCUROS £I0TH

70819146672, TO- ETLODAL0

Question Number : 44 Question Id : 70819114063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819146673. Charles Correa

70819146674, Richard Mier

20819146675, Jasbir Sachdev

70819146676, Ramit Sabliki

Question Number : 44 Question Id : 70819114063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
afy®) cUomim) Uladallow & )Glajes eavodendSlooem enloglwo miens ?
Options:
70819146673, PR 050



70819146674, O-o00 dlod

70819146675, ETendd mvojesal

70819146676, ©EORN0 ueniellos]

Question Number : 45 Question Id : 70819114064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :
Options :

Climate change

70819146677.

70819146678, Clobal warming

70819146679, >ustainable development

70819146680, omart city

Question Number : 45 Question Id : 70819114064 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

af)M@0w eIMLOR|S (nl6l)dalMmoem” @oggens 21 7

Options :

70819146677, PRl caleml

mg@am‘umﬁ cuodalowy
70819146678.



70819146679, Tuymudlo aflémumo

mimods ol
70819146680. 3 @

Question Number : 46 Question Id : 70819114065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Gold mines are situated in which state of India ?
Options :

70819146681. Karnataka

70819146682, Orissa

70819146683. Maharashtra

70819146684 Uttar Pradesh

Question Number : 46 Question Id : 70819114065 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sy @iles a@®) momooma@mosm aujden euad cudlel e.aigumMmae ?

Options :

70819146681, “LaROSE

70819146682. sl

70819146683, 2O0000HS



70819146684, 2000 30T

Question Number : 47 Question Id : 70819114066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the Southern Hemisphere shadowless light is from which direction ?
Options :

70819146685, North

70819146686, OCuth

70819146687, st

70819146688 VVest

Question Number : 47 Question Id : 70819114066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
adaflem @eda enoaodla mlem tadl® domoe aalenme’ age) drala admosm ?

Options :

70819146685, (USHE
70819146686, OO

70819146687, I9HE

70819146688, *-S6THIO



Question Number : 48 Question Id : 70819114067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

i _
70819146689, oY+ Doshi

70819146690, Laurie Baker

70819146691, 1 Rewal

70819146692. Achyut Kanvinde

Question Number : 48 Question Id : 70819114067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2018 - eal (algmieend aljemieono eldla) (inn cor@lw aomim) tldal.

Options:
70819146689, Sl Al @30l

70819146690, 200! GELSOD

70819146691, T GOAIM

mmcgm}“ #romadlens
70819146692.

Question Number : 49 Question Id : 70819114068 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :

Options :

70819146693, Bengalurm

70819146694, banaras

70819146695, bengal

70819146696, Darl

Question Number : 49 Question Id : 70819114068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

"erlogRoad T ag)m ale@mion £cEE0Ue aR®I@ milomoem ?
Options :

ENlotL®o
70819146693.

70819146694, FHMIOM

70819146695, OO

70819146696, !

Question Number : 50 Question Id : 70819114069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The IIM - Ahmedabad is designed h}-' which of the fnllnwing Architect 7

Options :
70819146697, LAaurie Baker

70819146698, Louis Kahn

70819146699, utyen

70819146700, Le Corbusier

Question Number : 50 Question Id : 70819114069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0ag). 0af). afo - MNAARINUIE Aol H@aIM §.UW®m Mmwldal moey
alow)maudd eoooen ?

Options :

70819146697, EPC! cenieo®

70819146698. ERUNILy o0eh

elRle@d
70819146699.

70819146700, & ©mode @b

Question Number : 51 Question Id : 70819114070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the given figure, how many squares are present ?

Options :

—

70819146701, 14

3

=

70819146702.

(=1

70819146703, 12

—

70819146704, 18

Question Number : 51 Question Id : 70819114070 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MO 6)hISIMTIBleaM all@mEmlad ag)® TUDolm0eIRud Bens ?

Options :

—

70819146701, 14

3

=l

70819146702.

5

(=1

70819146703.

8

—

70819146704.



Question Number : 52 Question Id : 70819114071 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options :
I e
1 |
70819146705.
I| [
I
I
70819146706.
-
_I .-
| |-
70819146707.

70819146708.



Question Number : 52 Question Id : 70819114071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

069 dx0emYm (aflaom cumim aildamlsepmalio’’ B LmI® ag)go ASHedhEIo BRSEEIW
80} allimo maalwigems. rdwow am dlnaemms e d.

Options :

70819146705.

70819146706.

70819146707.



70819146708.

Question Number : 53 Question Id : 70819114072 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

—KE O
[

Options :

708191467009.

70819146710.



70819146711.

70819146712.

Question Number : 53 Question Id : 70819114072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

an) cumimallon ajedld mlmies ®0¥al (anm ali®o myallaflenim). oeme
afleomla soenafldenim epens aodesia ol emosniemiond &oemim ndwo
00l BIOOETMS]HE)]d.

7N
X7

Options :

708191467009.



70819146710.
70819146711.
70819146712.

Question Number : 54 Question Id : 70819114073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

—
I

Options :




70819146713.

L]
70819146714,

[ 1
70819146715,
70819146716.

Question Number : 54 Question Id : 70819114073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} ammalon aiesld mlmgs &ival wum ali@mo mjallaflenim). oome
allmomila smoeml.alidenirm epend mdasia ol emosnemioud &iemym ndlwow
&0¥0| BIOOETMS 6 db.

—
I

Options:

70819146713.




70819146714.

70819146715.

70819146716.

Question Number : 55 Question Id : 70819114074 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The pmblem t’igure shows the top view of an object. Identifj.,-' the correct elevation amongst
the answer figures looking in the direction of arrow.

L

T

Options :

70819146717.

70819146718.



70819146719.

70819146720.

Question Number : 55 Question Id : 70819114074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} anmjalleqd aisgld dlmgs #0¥al (@@m ali@o mjaflaflenm). some
aflimeicd @oenafdenim epend modasdiad oo emosniemiotd &aemym ndwow
001 BIREETMS |6 jdb.

=

T

Options :

70819146717.

70819146718.



70819146719.

70819146720.

Question Number : 56 Question Id : 70819114075 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the t'ollf}wing answer fig_ures is hidden in problem i’igure in same size and direction.
Select correct one.

Options :

70819146721. E

70819146722. D
70819146723. ':



70819146724. ﬁ

Question Number : 56 Question Id : 70819114075 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6% aHos|muldlenim 8oy e ali@o @em aelajodlale drdlalo (wwm
allimodlcd acsmden)m). oo am aloasmms)d .

Options :
70819146721. >
70819146722. D
70819146723. v
70819146724. ﬁ

Question Number : 57 Question Id : 70819114076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Oneof the f nllowmg answer figurr_-s ishidden in problem f igure in the same size and direction.
Select correct one.

Options :

70819146725.

70819146727.

™
70819146726. Q
0
N

70819146728.

Question Number : 57 Question Id : 70819114076 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®06¥ adosiamldlanym e geme allme @eem aelqjemilale dwrlaloe (wwm
afimoddd aoemildanim). rdwow amm loeemmsidHd.

Options:

70819146725. @



70819146726. Q

70819146727. 6

70819146728. m

Question Number : 58 Question Id : 70819114077 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :

70819146729.

70819146731.

N
A
>

70819146732.

Question Number : 58 Question Id : 70819114077 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®06¢ Odos)emldlanym ao) oeme all@o @em aelqjenilele dlnalaoe (iwn
aflimevia aosmildanim). rolwow em aloastms)@s)d.

\

Options :

70819146729.

70819146731.

N
oo, C

A

>

70819146732.

Question Number : 59 Question Id : 70819114078 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Oneof the [ ollowi_ng answer figures is hidden in the prohlem ﬁgurr_- in same size and direction.
Select the correct one.

Options :

70819146733. D



70819146734. D

70819146735. O

70819146736. #

Question Number : 59 Question Id : 70819114078 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®06Y HHos|mldlenym 6oy oeme alimo @em aelajodlaloc drdlale (wluwm
alimodlcd acsrmdenim). i am aloasmms)d .

Options :
70819146733. D
70819146734. D
70819146735. O
70819146736. ﬂ

Question Number : 60 Question Id : 70819114079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is correct mirror image of problem figure with respect to
X-X?

X
H
[]
X
Options :
[ 1]
70819146737.
[]
[ ]
70819146738.
[l
[]
708191467309.

70819146740.



Question Number : 60 Question Id : 70819114079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X-X @oemymudlal lalcim olimesien rdeiw wialmienio some almsmesed agmoen ?

X
[
[
X
Options :
]
70819146737.
[]
[ 1]

70819146738.



708191467309.

70819146740.

Question Number : 61 Question Id : 70819114080 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

X X

Options:

-

70819146741.



D)
N

70819146742.

¥,

Ao

70819146743.

0N
N2

70819146744.

Question Number : 61 Question Id : 70819114080 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X-X @emymudla] lalwim alimesiien rdeow iaflmiomio oame ol agmos ?

Options :

70819146741.



o
N

70819146742.

¥,

Ao

70819146743.

0N
N2

70819146744.

Question Number : 62 Question Id : 70819114081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

7 X
Y/INN

4
Y X
Options :
N
L N\V
N
70819146745. /
N
NV
A
70819146746. /
N
P
\/
70819146747. /l\

S/

N4
AN

70819146748.



Question Number : 62 Question Id : 70819114081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X-X @omimudla] (alutm ali@esion edeow ialmiamic smme allmsmselcd agpmoen ?

/ X
/NN
/
i X
Options :
o
LNV
N
70819146745. /
X
NV
N
70819146746. /
N
P
N/
70819146747.

70819146748.



Question Number : 63 Question Id : 70819114082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the pmh[em t’igure ?7 Select the
correct one.

A

Options :

ﬁt\u.
70819146749.
70819146750.
70819146751. |

N
S

70819146752.




Question Number : 63 Question Id : 70819114082 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(adom ollmsmBales (@ho aljdemlwisam armeall®e a@moem ? reolwow am
@106 TS ) B6) )b

Options :

74
70819146749.
70819146750.
70819146751. |
70819146752.

Question Number : 64 Question Id : 70819114083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819146753.

70819146754.

70819146755.

70819146756.

Question Number : 64 Question Id : 70819114083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



80} amimialen @laom (3D) #09al @wm al@o malleflenim). semeal@eniad
ool afldlanim emend mdesldd almlo emadsemion &oemim Al &o¥al
(0] ) BTOTS Job6) ).

7

Options :

70819146753.

70819146754.

70819146755.

70819146756.

Question Number : 65 Question Id : 70819114084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

%

Options :

70819146757.

70819146758.

70819146759.

70819146760.



Question Number : 65 Question Id : 70819114084 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} almimjaledd @aom (3D) 094l (alwm all@o mujalallenim). pemeal@endd
&oeml 2fldleo)m @perd aodedld ltmio emode)emioid &oemim Al &i¥al
@ 0O ENTS )66 ).

3

V

Options :

70819146757.

70819146758.

70819146759.

70819146760.



Question Number : 66 Question Id : 70819114085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

70819146761.

[ ]

70819146762.



70819146763.

70819146764.

Question Number : 66 Question Id : 70819114085 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

80} almimaledd @aom (3D) 094l (alwm all@o mjalallenim). pemeal@endc
o6l afldleoim @peno aodedlad dlmio emoda)emIowd &oemim AW &I¥al
@06 NS )cb6) b

O

DAN

" NA

Options :

70819146761.



70819146762.

70819146763.

70819146764.

Question Number : 67 Question Id : 70819114086 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819146765.



70819146766.

70819146767.

70819146768.

Question Number : 67 Question Id : 70819114086 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&0} almimiafed (@aom (3D) 409l (alwm afimo mpalalenymy. semeal@aniic
aoemlaldlanm emens acdasied aflmie emodn@muod &oemim AW &I¥al
@06 SOMS)6) b

/!

Options :

70819146765.



70819146766.

70819146767.

70819146768.

Question Number : 68 Question Id : 70819114087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

708191467609.

70819146770.



70819146771.

70819146772.

Question Number : 68 Question Id : 70819114087 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&0}y aimmaleq @laom (3D) &09al (wm all@o mjalaflesym;. pemealmenicd
o6mlafldlanim eoeno aodasiad mlomie emosn)emiot &oemym Elwow @Yol
@ 06 SIS 1) .

/I

Options :

70819146769.

70819146770.



70819146771.

70819146772.

Question Number : 69 Question Id : 70819114088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

e

Options :

70819146773.

70819146774.



70819146775.

70819146776.

Question Number : 69 Question Id : 70819114088 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&0} almimalad @aom (3D) &1¥al (wiwm ali@o mjalafleaym). oemealmenid
o6mlafldlanm emend aadasiad aflmyo emodn Bmuowd &osmim Al &I¥al
@ 06 6TNS J46) ko

7z

Options :

70819146773.



70819146774.

70819146775.

70819146776.

Question Number : 70 Question Id : 70819114089 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/1

Options :

70819146777, '



70819146778.

70819146779.

70819146780.

Question Number : 70 Question Id : 70819114089 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a0} aumimallof @laom (3D) &odal (aim alime mjafafleaymy. somealmenicd
&06mlfldlanim emeno aodesld momlo emodeiEmIomd &oemim el &@i¥al
@ OO ETTINS 16 ).

Z

Options :

70819146777, '

70819146778.



70819146779.

70819146780.

Question Number : 71 Question Id : 70819114090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819146781. —I



70819146782. )

70819146783.

70819146784.

Question Number : 71 Question Id : 70819114090 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&0y aurimalond @laom (3D) &oval (iwdm alimo miallallenim). pemealmenia
#06mlafldlanym epeno aodasiad almio emosniEmIolh &oemym RO &I¥al
@106 6TNS ) b,

/I

Options :

70819146781. —I



70819146782. )

70819146783.

70819146784.

Question Number : 72 Question Id : 70819114091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

Options :

70819146785.



70819146786.

70819146787.

70819146788.

Question Number : 72 Question Id : 70819114091 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&0} aunmaledd @aom (3D) #0¢¥al (wm al@o miallalenim). semeal®end
#06m] f|dlae)m epero modasicd almyo eModn EMIoMD &Hoemim ORI &I¥al
(0106 EYTTIS Jcb) ).

y

Options :

70819146785.



70819146786.

70819146787.

70819146788.

Question Number : 73 Question Id : 70819114092 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :



70819146789. | |

L
70819146790. | |
70819146791. | |

||
70819146792. |

Question Number : 73 Question Id : 70819114092 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&80} arimalond (@aom (3D) &oval (alwm alli@o mallallenim). emealmaenc
oem| ofldlen)m @peno aodesla mlmie emModan B &oem)m AR &I¥al
@ 06 TS JH6) 1.

Options :

70819146789. | |



70819146790. | |

70819146791.

70819146792. |

Question Number : 74 Question Id : 70819114093 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819146793.

70819146794.



70819146795.

70819146796.

Question Number : 74 Question Id : 70819114093 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&0} animiafed @aom (3D) &0¥al (wwm ali@e miallalenim). semeal@and
a0eml afldlenm epero modesla alamlo GMOEHIEMIOMND dhoem)mm ElWIW d&o¥al
(1] 06 6TTDS 6 ).

/

Options :

70819146793.

70819146794.



70819146795.

70819146796.

Question Number : 75 Question Id : 70819114094 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options:

70819146797.

70819146798.

70819146799.



70819146800.

Question Number : 75 Question Id : 70819114094 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

8} cummyallen @laom (3D) &oval wuwm alime mjaiafanmy. ammolend
n)asllad mlmies ndeiw &¥al semoolmsmsaga almio @leesmmS @6 ids.

Options :

70819146797.

70819146798.

70819146799.



70819146800.

Question Number : 76 Question Id : 70819114095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819146801.

70819146802.

70819146803.

70819146804.



Question Number : 76 Question Id : 70819114095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80) amimjalen @laom (3D) &0¥al (altdm all@o moaflaflanim). amedia mlmes
il &YYol pemeolmensls mimio cleasmms)da)d.

Options :

70819146801.

70819146802.

70819146803.

70819146804.

Question Number : 77 Question Id : 70819114096 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

|_r
70819146805.

|_|_‘
70819146806.

I_I_
70819146807.

|_r

70819146808.

Question Number : 77 Question Id : 70819114096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



80) aummilion (@laom (3D) &0¥al imm afimo mallallanmy). ool dmies
il &¥al someclmsmslad mimie lReeTmS e db.

Options :

|_r
70819146805.

|_|_‘
70819146806.

H_
70819146807.

J_

70819146808.

Question Number : 78 Question Id : 70819114097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Identify the building compositions of having less visual tension amongst the following figures.

(A) (B)
() (D)
Options :

70819146809, ) and (B)

(B) and (C)
70819146810.

70819146811, (©) and (D)

70819146812, () and (4)

Question Number : 78 Question Id : 70819114097 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®maey mamidanim oeme all@ssdld mmie &oval momdde (Qllaydd HSmaud)
)0 OGS 62 ISl jdb.

(A) (B)
(©) (D)
Options:

70819146809, /) and (B)



(B) and (C)
70819146810.

70819146811, (©) and (D)

70819146812, (D) and (4)

Question Number : 79 Question Id : 70819114098 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

v v— U
v oA
Options :

Il
70819146813.

70819146814.

70819146815.

70819146816.



Question Number : 79 Question Id : 70819114098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(em alli@mo 8o wumoalen aissld mlmies &oval mjallaflenymm).
o6mloflolasym @peEnd notdslm mllmie GMIENIEMIOGD &Hoemm Ol dhiYal
oemnall@andla almie wleaemms @ )d.

v v— U
v Hga
Options :

I
70819146813. |-|-

70819146814.

70819146815.

70819146816.

Question Number : 80 Question Id : 70819114099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

i\
2

Options :
70819146817. :
/N
70819146818. \\\\\}xwé{////f
/NN
70819146819.
AN
\V

70819146820.



Question Number : 80 Question Id : 70819114099 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(ddm alli@e &0} aummaled asgld olmes #09al miaflaflenim).
o6 ofldlenim @pend aodesldd dlmlo emadsemiod &oemim Al &oY¥al
pmmeolmsmeldd dlmmio alesemmsjd .

/\
V

N

Options:

70819146817.

70819146818.

> D D

70819146819.

70819146820.



Drawing

Section Id : 708191499
Section Number : 4

Section type: Offline
Mandatory or Optional : Mandatory
Number of Questions : 2

Number of Questions to be attempted : 2

Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191779
Question Shuffling Allowed : No

Question Number : 81 Question Id : 70819114100 Question Type : SUBJECTIVE

Correct Marks : 50



Draw a proportionate skelch of given reference image by using any black and white rendering
teduﬁques of your own choice.

OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 81 Question Id : 70819114100 Question Type : SUBJECTIVE

Correct Marks : 50
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Question Number : 82 Question Id : 70819114101 Question Type : SUBJECTIVE

Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i CUBOID A :SIZE 2 cmXx2 ¢cm x2 cm, 5 Nos.
(i) CUBOID B :SIZE5 ecmx2 cmx 2 cm, 4 Nos.

Use “Cool Colorscheme” for composition.

Question Number : 82 Question Id : 70819114101 Question Type : SUBJECTIVE

Correct Marks : 50



dememBd paleword ] 80} algo aloemad mmamiond 2li®mo ®GIOIEd.
@62 8] @

619 Hehos)amidlanm @eanileles neme) AMmEN edoee AleIm® (Harmonic)
an) [@aom afl®o IWH .

(i) meampessg A: aellajo 2 em. dx2em. dlx2em. d,5 agepo
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